Proportional Reasoning, Level 3+

Tiring Teamwork
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Activity

Kelvin takes 6 minutes to walk around the track. Ian takes 8 minutes,
and Kate takes 10 minutes.

We could model this
using counters ...

4. Kelvin and Ian start at the same time.
How soon will Kelvin lap Ian?

After 1 minute After 2 minutes After 3 minutes After 4 minutes
0

Outer circuit: Kelvin, inner circuit: lan

Explain your answer to a classmate, for this and the following questions.
2: Later, Kate and lan start together. How soon will Ian lap Kate?

3. Kelvin and Kate then start together. How soon will Kelvin lap Kate?

Comparing the relative positions of two moving objects 21





